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INSTRUCTIONS: There are TWO SECTIONS in this question Paper. Attempt the
SECTIONS in separate answer sheet.

SECTION A

M. Marks: 40

Answer the question given below. All questions are compulsory.

Q1 Discuss any THREE of the following:
a)  Growing Terrorism
b)  Holding Benami properties.
¢)  Service Sector.
d) E commerce success or failure.

e) SEBI 15
Q2 Do you think Demonetization of Rs 500 and Rs 1000 notes will help to
curb black money? What is likely impact on economy in short run and
long run
OR
Discuss the Impact of presidential election on India. 10

Q3 a) Indiais moving towards Digital business; explain in detail implications
of new system .Explain about various methods of cash less transactions
with limitations of each system. 10
b)  M/S Colgate have visited your company for placement ,they have asked
following questions

1) How would you provide growth to our company?
11) Why are you interested to work for FMCG Company which is
very demanding? 5
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SECTION B

M. Marks: 30

Directions for Q. 1 to 4: Four parts of a sentence have been given. From
the alternatives, find the combination which best gives a meaningful
sentence.

Q1 A. there was the hope that in another existence a greater happiness
would reward one
B. previous existence, and the effort to do better would be less difficult
too when
C. it would be less difficult to bear the evils of one’s own life if
D. one could think that they were but the necessary outcome of one’s

errors in a
(a) CABD (b) BDCA
(c) BADC (d) CDBA
Q2 A. he can only renew himself if his soul

he renews himself and
the writer can only be fertile if
is constantly enriched by fresh experience

(a) CBAD (b) CADB
(c) BDCA (d) BACD
Q3 A. but masterpiece is
B. untaught genius
C. a laborious career than as the lucky fluke of
D. more likely to come as the culminating point of
(a) CDAB (b) ADCB
(c) CDBA (d) ACDB
Q4 A. what interests you is the way in which you have created the illusion
B. they are angry with you, for it was
C. the public is easily disillusioned and then
D. the illusion they loved; they do not understand that
(a) ACBD (b) BDCA
(c) CBDA (d) BCAD

Directions for Q. 5 to 8: Each pair of CAPITALIZED words given
below is followed by four pairs of words. Choose the pair which
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exhibits the relationship similar to that expressed in the capitalized pair.

Q5 ROTATE: GYRATE
(a) Putrefy: Reject (b) Anachronism: Cubism
(c) Accolade: Criticism (d) Absolve: Exonerate
Q6 TEPEE: RED INDIAN
(a) Tree: Bark (b) Tent: Camping
(c) Igloo: Eskimo (d) House: Man
Q7 WOOL: ACRYLIC
(a) Minutes: Day (b) Cotton: Polyester
(c) India: Assam (d) Nylon: Rayon
Q8 COMMITMENT: GROWTH
(a) Ingenuity: Invention (b) Gullibility: Experiment
(c) Loquaciousness: Sobriety (d) Taciturnity: Silence

Directions for Q. 9 to 11: Read the passage and answer the questions
given below it.

If T had been asked in my early youth whether I preferred to have
dealings only with men or only with books, my answer would certainly
have been in favour of books. In later years, this has become less and
less the case. Not that I have had so much bitter experiences with books
than with men, on the contrary, purely delightful books even now come
my way more often than purely delightful men. But the many bad
experiences with men have nourished the meadow of my life as the
noblest book could not do.

Q9 In his early youth, the author:
a) Liked to have more dealings with books than with men
b) Liked to have more dealings with men than with books
c) Preferred to have dealings only with books
d) Preferred to have dealings only with men

Q10 The author says that in later years his love of books diminished because:
a) He had given up the habit of reading books
b) He did not get many delightful books to read
¢) He had better experiences with men than with books
d) Even the bad experiences he had with men were more valuable
than what the noblest books gave

Q11 Which one of the following statements best reflects the main argument
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Q12

Q13

Q14

Q15

Q16

Q17

Q18
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of the passage?
a) There are more purely delightful men than purely delightful
books
b) Books are always better than men
c) Itis the experience with other human beings that nourishes one’s
life and not necessarily books
d) Neither men nor books give real worthwhile experience

Directions for questions 12 to 15: Fill in the blank with the appropriate
option

Please......... a card from the box that is before you.
a) pick on
b) pick out
Why are you ............ your food? Aren’t you hungry?

a) picking at
b) picking up

If you are yet to think of an excuse, you are _
done for
done in

The machineis...................... the needs of share brokers and their
clients.

a) adapted to

b) adapted for

Which of the following successive discount series is the best of all for a
customer?

(a) 30%, 20%, 10% (b) 25%, 20%, 15%

(c) 30%, 10%, 15% (d) 25%, 15%, 10%

Raj Kumar sold 2 calculators for Rs. 990 each. On one calculator he
gained 10% and on the other he lost 10%. Find his profit or loss % in
the transaction?

(a) No loss- no profit (b) 1% profit

(c) 1% loss (d) 0.5% loss

For an examination it is required to get 36% of maximum marks to pass.
A student got 113 marks and failed by 85 marks. The maximum marks
for the examination are:

(a) 500 (b)550
(c) 565 (d) 620
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Q19 Siddharth has only three types of toys - Cars, Puzzles and Planes. All
his toys except 25 are Planes. All except 32 are Cars. All except 27 are
Puzzles. How many Cars does he have?

(a) 52 (b) 15
(c) 12 (d) 10
Q20 If each side of a square is increased by 25%, find the percentage change
in its area.
(a) 47.72 (b) 56.25
(c) 64.48 (d) 81.10
Q21 A music website sold 68 single songs and 40 albums today. The number

of single downloads has been increasing by 12 each day. The number of
album downloads has been decreasing by 2 each day. If these trends
continue, in how many days will the numbers of single downloads be
five times the number of album downloads?

(a) 28 days (b) 18 days
(c) 6 days (d) 2 days
Q22 If 80% of a number added to 80 gives the result as the number itself,
then the number is
(a) 200 (b) 320
(c) 400 (d) 480
Q23 For the inequality / — < find the value x.
(@ >3 b)2 < <5
(c) <2 (d2 >>5
Q24 Fatima introduces Mr. Zakir to her husband and said that father of his
brother is the only son of her grandfather. How is Fatima related to Mr.
Zakir?
(a) Mother (b) Aunt
(c) Sister (d) Niece

Q25 a) Rajan has 193 marbles which he wants to give to 2 of his close friends —
Ambuj and Bipin. Ambuj wants the number of marbles to be a multiple
of 5 and Bipin wants the number to be a multiple of 12. How many
distinct values of marbles given to Ambuj and Bipin are possible?

b) (a) 2 (b)3
(c)4 (d) More than 4
Q26 A 1s twice as fast as B and B is thrice as fast as C. In how much time

will the distance covered by C in 54 minutes get covered by ?
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Q27

Q28

Q29

Q30
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(a) 324 min (b) 27 min
(c) 18 min (d) 9 min

Walking at 5/7 of its usual speed, a train is 10 minutes too late. Find its
usual time to cover the journey.

(a) 10 (b) 15

(c) 20 (d) 25

In a test, Abha scored more than Bodhi, and Chatur scored less than
Abha. Who had the lowest score?

(a)Abha (b) Bodhi

(c) Chatur (d) Not enough information provided.

Directions for questions 29-30: Read the instructions and solve the
question.

Salman Khan has not decided on which of the 4 novels to buy. He is
considering a thriller, mystery, romance and a fiction novel. The books
are written by R,G,Bu,Ho and published by Hr,P,Bl and S and not
necessarily in that order. The book by R is published by S. The thriller
is published by Hr. The fiction novel is by Bu and is not published by
BI. The romance is by Ho

P publishes

(a) Mystery (b) Fiction

(c) Novel by R (d) None of these
The Novel by G is

(a) A fiction novel

(b) A thriller published by Hr

(c) Published by Hr is a mystery

(d) Published by P and is a romance
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